Government Tender Notice

Invitation of Tender Notice No.7,8,9/Seri/Eng/PCR / S.C.House /2022-23

Sealed Tenders are invited by the Executive Engineer, Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2nd floor), Kolkata-13 for the following works under PCR at S.C. House, Lake Town, Kolkata from the contractors of P.W.D., P. W.D social sector. Directorate as well as from the bonafide experienced and resourceful outside contractors having experienced in such type of works.

Sl.No.	N.I.T	Name of the Work	Estimated Cost	Earnest	Place of Work.
	No.			Money	
e e	7	Remodelling of meeting Hall at 2 nd floor of Office of the Joint Director of Sericulture at S.C. house, Lake Town, Kolkata.	Rs. 4,19,288.00	Rs. 10,482.00	Joint Director of Sericulture at S.C. house , Lake Town, Kolkata.
2.	8	Repairing of Office building of the Joint Director of Sericulture at S.C. house, Lake Town, Kolkata.	Rs. 4,30,347.00	Rs. 10,759.00	do
3.	9	Lifting, Lowering and repairing of 3 HP Submarsible Pump motor at Joint Director Office at Lake Town, Kolkata.	Rs. 31,185.00	Rs. 780.00	do

Tender papers (NIT), Form-2911(ii) etc. may be obtained/downloaded from *seriwbgov.org* at free of cost. The Earnest money to be deposited only through **GRIPS Portal** in favour of the **Commissioner of Textiles** (Sericulture), West Bengal under the Head "8443-00-103-00-001-0-07-00". Bank Draft, N.S.C. or K.V.P. will not accepted.

Last date & time of submission of Tender	05.07.2022 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	
	05.07.2022 after 3-30 P.M. at Head Quarters, Kolkata.

Tender should be submitted/dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelop - I, should be superscribed as Technical Bid for N.I.T No SL No. ... of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD ,electrical & supervisory licence etc. and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No. SL No... of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate including all applicable Taxes etc in specified place and Sealed.

Above 2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL. No. of work with Name of Agency, submitted the bid on this Envelope and drop the same at the tender box in this office within the time limit specified at the table above. Rate should be quoted including all taxes and incidental charges. All the original copies are to be presented for verification as demanded.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable. G.S.T. and Labour cess will be deducted from bill value as per Govt. Rules. The details may be seen in the Office of the Commissioner of Textiles(Sericulture), West Bengal, 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the quotations without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest Quotation is not obligatory.

The Earnest money to be deposited only through **GRIPS Portal** in favour of the **Commissioner of Textiles** (**Sericulture**), **West Bengal** under the Head "8443-00-103-00-001-0-07-00". Acceptance of lowest Quotationer is not obligatory. Notwithstanding anytime contained in this Notice Inviting Quotation, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Sericulture
West Bengal.

Memo No. 37-13 Seri/Eng/PCR/SCH/02(Vol-3)

Dated, 20 6 2022

Copy forwarded for information & necessary action to :-

- 1. The Joint Director of Sericulture, S.C.House, Lake Town, Kolkata 65.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.
- 3. Website of this Directorate of Sericulture, West Bengal.

Executive Engineer,
Directorate of Sericulture
West Bengal

Priced Schedule for the Remodelling of Meeting Hall at 2 nd Floor of the Office of the Joint Director of Sericulture, East Zone, Lake Town, Kolkata.

Sl.no	Description of work	Quantity	Unit	Rate	Amount
1	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking erviceable materials at site and removing rubbish as directed within a lead of 75 m	5.00	Cum	547.00	2735.00
2	Dismantling artificial stone flooring upto 50 mm thick by carefully chiselling without damaging the base and removing rubbish as directed within a lead of 75 m	20.00	Sqm	62.00	1240.00
3	Taking out carefully G.C.I. or C.I. or asbestos sheets (including ridges etc.) from roof or wall after unscrewing bolts, nuts, screws etc.and stacking the material at site as directed	110.00	Sqm	41.00	4510.00
4	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed	40.00	Sqm	19.00	760.00
5	Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tiles using cement @ 2.91Kg./sqM or using pol	22.00	Sqm	1366.00	30052.00
6	Supplying, fitting & fixing Zn-Al alloy (55% Al & 45% Zn) coating of 150 grams per sq. metre (followed by colour coated on both side) steel sheet work having minimum yield strength of 550 Mpa	110.00	Sqm	787.00	86570.00
7	Aluminium sheet ridging fitted with self tapping screws, EPDM washers etc complete. (Minimum 225mm end lapping).	12.00	m	475.00	5700.00
8	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints includin ii) With 1:4 cement mortar 15 mm th.	40.00	Sqm	161.00	6440.00
9	Applying Interior grade Acrylic Primer of approved quality and brand on plastered or cencrete surface old or new surface to receive Distemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per anufacturer's specification and as per direction of the EIC	95.00	Sqm	44.20	4199.00

10	Protective and Decorative Acrylic exterior emulsion paint	95.00	Sqm	84.00	7980.00
	of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but				
	excluding the cost of primer				
11	(A) Wood work in posts, post plates, rafters, battens, truss members, purlins etc. fitted and fixed complete (excluding the cost of bolts, paints, but including the cost of nails, screws etc.) (The quantum should be corrected upto three decimals) Local Sal	0.30	Cum	77735.00	23320.50
12	Supplying, fitting and fixing boiling water proof ply conforming to IS: 710-1977 bonded with phenol formaldehyde synthetic resin onforming to IS: 848-1974 of approved make and brand fitted and fixed as per design as per approval and direction of Engineer-in-Charge. [excluding the cost of supporting frame work and teak wood batten/Lipping] In Second Floor. 19 mm thick	30.00	Sqm	2448.00	73440.00
13	Supplying, fitting and fixing boiling water proof ply conforming to IS: 710-1977 bonded with phenol formaldehyde synthetic resin onforming to IS: 848-1974 of approved make and brand fitted and fixed as per design as per approval and direction of Engineer-in-Charge. [excluding the cost of supporting frame work and teak wood batten/Lipping] In Second Floor. 16 mm thick	20.00	Sqm	2056.00	41120.00
14	Supplying fitting and fixing of Sunmyca over Water proof ply including finishing.	30.00	Sqm	250.00	7500.00
15	P.V.C- False Ceiling: Providing False Ceiling made with framework of steel tube of 40mm x 20mm ofnot less than 18 gauge, the long and cross section will be welded with each other 1000mm to 1200mm apart the entire framework will be	20.00	Sqm	1394.00	27880.00
16	Rendering the Surface of walls and ceiling with White Cement base WATER PROOF wall putty of approved make & brand.(1.5 mm thick)	40.00	Sqm	122.00	4880.00
17	Electrical works Ceiling fittings, Power point, etc. as per direction.	1.00	L.S	10000.00	10000.00

				40.000.00	10000 00	
18	Removing of Heavy delapeted machinaries from 2nd Floor	1.00	L.S	12,000.00	12000.00	
	Godown to Godown building and cleaning the room etc					
	From 2nd floor to Godown.					
19	Removing of Heavy delapeted machinaries from 2nd Floor	1.00	L.S	11,000.00	11000.00	
	Godown to Godown building and cleaning the room etc					
	from ground floor to Godown					
20	Removing of Big size uprooting Tree over the roof of	1.00	L.S	4500.00	4500.00	
	Reeling Shed by cutting pieces and stacked at site.					
• 21	Teak wood battens 16 mm x 12 mm size supplied fitted	55.00	m	95.00	5225.00	
	and fixed complete at all sides of tasble where necessary					
	with approved adhesive					
					371051.50	
	Add 12 % as G S T Add 1 % as Labour welfare Cess					
				TO	419288.20	
	RS. 4,19,288.00					
	(Rupees Four lakhs nineteen thousand two hundred eighty eight only)					

Executive Engineer
Directorate of Sericulture
West Bengal